Multiplication par 10* (D)

56 x 10!

35 x 101!

44 x 10*

19 x 10!

48 x 10*

81 x 10?

17 x 107

49 x 101

79 x 101

12 x 101

Trouvez chaque produit.

87 x 10 =

7 x 101 =

32 x 10 =

12x10' =

69 x 10*

23 x 10"

41 x 10t

13 x 10t =

6 x 10! =

100 x 10* =
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Multiplication par 10* (D) Solutions

56 X 10' = 560

35 x 10' =350

44 x 10" = 440

19 x 10" =190

48 x 10 = 480

81 x 10' =810

17 x 10 =170

49 x 10* =490

79 x 10* =790

12 x 10 =120

Trouvez chaque produit.

87 x 10 =870

7x10'=70

32 x 10" =320

12 x 10" =120

69 x 10* = 690

23 x 10 =230

41 x 10' =410

13 x 10' =130

6 x 10' =60

100 x 10 =1 000
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